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QUESTION 101

Refer to the exhibit. The Lakeside Company has the internetwork in the exhibit. The administrator would like to reduce the size of
the routing table on the Central router. Which partial routing table entry in the Central router represents a route summary that
represents the LANSs in Phoenix but no additional subnets?

/" Upstream
> Provider |

10.3.0.0/24

10.6.1.0/24 1051004 10400124 10.4.1.0/24

A. 10.0.0.0/22 is subnetted, 1 subnets
D 10.0.0.0[90/20514560] via 10.2.0.2, 6w0d, Serial0/1
B. 10.0.0.0/28 is subnetted, 1 subnets
D 10.2.0.0[90/20514560] via 10.2.0.2, 6w0d, Serial0/1
C. 10.0.0.0/30 is subnetted, 1 subnets
D 10.2.2.0[90/20514560] via 10.2.0.2, 6w0d, Serial0/1
D. 10.0.0.0/22 is subnetted, 1 subnets
D 10.4.0.0[90/20514560] via 10.2.0.2, 6w0d, Serial0/1
E. 10.0.0.0/28 is subnetted, 1 subnets
D 10.4.4.0[90/20514560] via 10.2.0.2, 6w0d, Serial0/1
F. 10.0.0.0/30 is subnetted, 1 subnets
D 10.4.4.4[90/20514560] via 10.2.0.2, 6w0d, Serial0/1

Answer: D

Explanation:

The 10.4.0.0/22 route includes 10.4.0.0/24, 10.4.1.0/24, 10.4.2.0/24 and 10.4.3.0/24 only.

QUESTION 102

Refer to the graphic. A static route to the 10.5.6.0/24 network is to be configured on the HFD router. Which commands will
accomplish this? (Choose two.)

10.5.4.5/30 10.5.4.6/30
> fa0/0 fa0/1 g6

10.5.5.0/24 10.5.6.0/24
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A. HFD(config)# ip route 10.5.6.0 0.0.0.255 fa0/0

B. HFD(config)# ip route 10.5.6.0 0.0.0.255 10.5.4.6

C. HFD(config)# ip route 10.5.6.0 255.255.255.0 fa0/0

D. HFD(config)#ip route 10.5.6.0 255.255.255.0 10.5.4.6
E. HFD(config)#ip route 10.5.4.6 0.0.0.255 10.5.6.0

F. HFD(config)#ip route 10.5.4.6 255.255.255.0 10.5.6.0
Answer: CD

Explanation:

The simple syntax of static route:

ip route destination-network-address subnet-mask { next-hop-1P-address | exit-interface}

+ destination-network-address: destination network address of the remote network

+ subnet mask: subnet mask of the destination network + next-hop-1P-address: the |P address of the receiving interface on the
next-hop router

+ exit-interface: the local interface of this router where the packets will go out In the statement "ip route 10.5.6.0 255.255.255.0
fao/0"

+ 10.5.6.0 255.255.255.0: the destination network

+ fa0/0: the exit-interface

QUESTION 103

Beforeinstalling a new, upgraded version of the |OS, what should be checked on the router, and which command should be used to
gather thisinformation? (Choose two.)

A. theamount of available ROM

B. the amount of available flash and RAM memory

C. theversion of the bootstrap software present on the router
D. show version

E. show processes

F. show running-config

Answer: BD

Explanation:

When upgrading new version of the |OS we need to copy the |OS to the Flash so first we have to check if the Flash has enough
memory or not. Also running the new 10S may require more RAM than the older one so we should check the available RAM too.
We can check both with the "show version” command.

QUESTION 104

Which command reveals the last method used to powercycle arouter?

A. show reload

B. show boot

C. show running-config

D. show version

Answer: D

QUESTION 105

Which command would you use on a Cisco router to verify the Layer 3 path to a host?

A. tracert address

B. traceroute address

C. telnet address

D. sshaddress

Answer: B

Explanation:

In computing, traceroute is a computer network diagnostic tool for displaying the route (path) and measuring transit delays of
packets across an Internet Protocol (1P) network. The history of the route is recorded as the round-trip times of the packets received
from each successive host (remote node) in the route (path); the sum of the mean times in each hop indicates the total time spent to
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establish the connection. Traceroute proceeds unless all (three) sent packets are lost more than twice, then the connection islost and
the route cannot be evaluated. Ping, on the other hand, only computes the final round-trip times from the destination point.
QUESTION 106

What information does arouter running alink-state protocol use to build and maintain its topological database? (Choose two.)

A. hello packets

B. SAP messages sent by other routers

C. LSAsfrom other routers

D. beaconsreceived on point-to-point links

E. routing tables received from other link-state routers
F. TTL packets from designated routers

Answer: AC

Explanation:

Neighbor discovery isthefirst step in getting alink state environment up and running. In keeping with the friendly neighbor
terminology, a Hello protocol is used for this step. The protocol will define a Hello packet format and a procedure for exchanging
the packets and processing the information the packets contain. After the adjacencies are established, the routers may begin sending
out LSAs. Asthe term flooding implies, the advertisements are sent to every neighbor. In turn, each received L SA is copied and
forwarded to every neighbor except the one that sent the LSA.
QUESTION 107
Which statements describe the routing protocol OSPF? (Choose three.)
A. ItsupportsVLSM.
B. Itisused to route between autonomous systems.
C. It confines network instability to one area of the network.
D. Itincreasesrouting overhead on the network.
E. Italowsextensive control of routing updates.
F. Itissimpler to configure than RIP v2.
Answer: ACE
Explanation:
The OSPF protocol is based on link-state technology, which is a departure from the Bellman-Ford vector based algorithms used in
traditional Internet routing protocols such as RIP. OSPF has introduced new concepts such as authentication of routing updates,
Variable Length Subnet Masks (VLSM), route summarization, and so forth. OSPF uses flooding to exchange link-state updates
between routers. Any changein routing information is flooded to all routers in the network. Areas are introduced to put a boundary
on the explosion of link-state updates. Flooding and calculation of the Dijkstra algorithm on arouter is limited to changes within an
area.
QUESTION 108
Refer to the exhibit. A network administrator configures a new router and enters the copy startup-config running-config command
on the router. The network administrator powers down the router and setsit up at aremote location. When the router starts, it enters
the system configuration dialog as shown. What is the cause of the problem?

— System Configuration Dialog —

Would you like to enter the initial configuration dialog? [ves/nol: % Please answer yes or 'no’,
would you like to enter the initial conﬂguratlorfy dialog? -{lves.-’hm n. e

ARSI EAST To\ZAN
Would you like to termlnate autumsda'll?ﬁes] = =

Press RETURH to get started!

A. The network administrator failed to save the configuration.

B. The configuration register is set to 0x2100.

C. Theboot system flash command is missing from the configuration.
D. Theconfiguration register is set to 0x2102.

E. Therouter is configured with the boot system startup command.
Answer: A
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Explanation:

The "System Configuration Dialog" appears only when no startup configuration file is found. The network administrator has made a
mistake because the command "copy startup-config running- config" will copy the startup config (which is empty) over the running
config (which is configured by the administrator). So everything configured was deleted. Note: We can tell the router to ignore the
start-up configuration on the next reload by setting the register to 07142. This will make the " System Configuration Dialog" appear
at the next rel oad.

QUESTION 109

Refer to the exhibit. Which WAN protocol is being used?

[RouterA#show intertace poss/0/0
POSE/0/0 is up, 1ine protocel is up
Hardware is Packet over Sonet
xeepahve 58t %10 sec)
ramble disabled

e

wr eng serrc 2474988, LMI stat recvd 2474969, LMI upd recvd 0, DTE t™I up
Broadcast queue 0/256, broadcasts sent; dropped 25760668,0, 1n:erfar_e ‘broadcasts 25348176
Last input 00:00:00, output 00:00:00, output hang never {
liasli; Ieau;mg of " hw interface” counters 40w

minute iny =~ o~ (_
3 mnvie ontpoe e sS0ss sl 3432_,@,3 O

63153396 gackets input, 4389 1.455 Fer

Received broadusts (D '.I:P m'l(

0 runts, o antsy 0 Thrg

al

44773 inp’utp-err 5y 39138 CRC, O frame, 0 overrun, O ignored, 27 abort
945506253 packers ou\:pu\: 62753244360 bytes © underruns

0 output errors, 0 apquue 0 dinterface resets

0 output buffer failures, 0 output buffers swapped out

0 carrier transitions

£as

A. ATM

B. HDLC

C. FrameRelay
D. PPP
Answer: C
Explanation:

This question is to examine the show int command. According to the information provided in the exhibit, we can know that the data
link protocol used in this network is the Frame Relay protocol.

"LMI enq sent..."

QUESTION 110

What is the default administrative distance of OSPF?

A. 90

B. 100

C. 110

D. 120

Answer: C

QUESTION 111

Which characteristics are representative of alink-state routing protocol ? (Choose three.)

A. provides common view of entire topology
B. exchanges routing tables with neighbors
C. calculates shortest path

D. utilizes event-triggered updates

E. utilizes frequent periodic updates
Answer: ACD

Explanation:

1. Each of routers running link-state routing protocol learns pathsto all the destinationsin its "area" so we can say although it is a bit
unclear.

2. Link-state routing protocols generate routing updates only (not the whole routing table) when a change occurs in the network
topology.

3. Link-state routing protocol like OSPF uses Dijkstra algorithm to calcul ate the shortest path.

4. Unlike Distance vector routing protocol (which utilizes frequent periodic updates), link-state routing protocol utilizes
event-triggered updates (only sends update when a change occurs).
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QUESTION 112

Refer to the exhibit. Based on the exhibited routing table, how will packets from a host within the 192.168.10.192/26 LAN be

forwarded to 192.168.10.1?

192.168.10.64/26 192.168.10.192/26

192.168.10.8/30
.10

192.168.10.0/30 192.168.10.4/30

R2

e, T~ N . s

T Y alE | AT N T

S MCINED D|_,l‘_) R LI'_.jJ'.:'['J’_, AN
192.168.10.128/26

B3#% show ip toute
Chateway of last resort is not set
102162100024 iz varigh Iy subnetted, 6 subnets, 2 masks

o] 19216810 64026 [90/21 95450] wia 192.168.10.9, 00:03:31, Serialdi0

192 168 10 0J30 [M0/268 1256] +ia 192 168.10.9, 00:03 31, Serialln
[90/268 1856] +ia 192 168.10.5, 00:03:31, Serialdil

19216810 4030 iz directly connected, Serial 071

192.168.10.8/30 is directly connected, Serial 0/0

192 168.10.192/26 iz directly connected, FastEthermet00

10216810 128126 [Q002195456] wia 192.168.10 5, 00:03 31, Serial 011

20 a0

The router will forward packets from R3 to R2 to R1.
The router will forward packets from R3 to R1 to R2.

o0 w>»

. Therouter will forward packets from R3 to R1.
Answer: C
Explanation:

The router will forward packets from R3 to R2 to R1 AND from R3 to R1.

From the routing table we learn that network 192.168.10.0/30 is learned via 2 equal-cost paths (192.168.10.9 & 192.168.10.5) ->

traffic to this network will be load-balancing.
QUESTION 113

Refer to the exhibit. C-router isto be used as a "router-on-a-stick" to route between the VLANS. All the interfaces have been
properly configured and IP routing is operational. The hostsin the VLANSs have been configured with the appropriate default

gateway. What is true about this configuration?

Fal/0.1 - 172.19.1.254 124 VLAN 1
- Fa0f0.2-172.19.2.254 {24 VLAN 2

NG - Fa0i0.2-172.19.2.254
Ay fDQL of P D Al 4 4121957254 /24 VLAN 3

A. These commands need to be added to the configuration:

C-router(config)# router eigrp 123

C-router(config-router)# network 172.19.0.0

B. These commands need to be added to the configuration:

C-router(config)# router ospf 1

C-router(config-router)# network 172.19.0.0 0.0.3.255 area 0
C. These commands need to be added to the configuration:
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C-router(config)# router rip

C-router(config-router)# network 172.19.0.0

D. No further routing configuration is required.

Answer: D

Explanation:

Since al the same router (C-router) is the default gateway for all three VLANS, al traffic destined to adifferent VLA will be sent to
the C-router. The C-router will have knowledge of al three networks since they will appear as directly connected in the routing
table. Since the C-router already knows how to get to all three networks, no routing protocols need to be configured.

QUESTION 114

Which command would you configure globally on a Cisco router that would allow you to view directly connected Cisco devices?

A. enablecdp
B. cdpenable
C. cdprun

D. runcdp
Answer: C
Explanation:

CDP isenabled on Cisco routers by default. If you prefer not to use the CDP capability, disable it with the no cdp run command. In
order to reenable CDP, use the cdp run command in global configuration mode. The "cdp enable" command is an interface
command, not global.

QUESTION 115

Refer to the exhibit. Why is flash memory erased prior to upgrading the |OS image from the TFTP server?

Router# copy titp flash

Address or name of remote host []? 192,168.2,167

Source filename []? c1600-k8sy-mz.123-16a.hin

Destination filename [c1600-k8sy-mz.123-16a.hin]?

Accessing tHip:/f192.168.2.167/ c1600-kBsy-mz |23-16a hin..
Erasing flash before copying? [confirm]

Erasing the flash filesystem will remove all files! continue? [confirm]
Erasing device

s
E

= .

Ei apised _( /rf'J J f‘ e
Erase of flash: complete’ — - D‘ ‘:) A J = -l
Loading c1600-kBsy- mz I23s16a Bin from 182.162.2.167 (via Ethernetd):

[OK 68EE062/13777920 hytes]

werifying checksum. . OK (0=7BF3)
6228962 bytes copied in 209,920 secs (32961 bytes/sec)
Router#

The router cannot verify that the Cisco 10S image currently in flash isvalid.

Flash memory on Cisco routers can contain only asingle |OS image.

Erasing current flash content is requested during the copy dialog.

In order for the router to use the new image as the default, it must be the only IOS imagein flash.

Answer: C

Explanation:

During the copy process, the router asked "Erasing flash before copying? [confirm]" and the administrator confirmed (by pressing
Enter) so the flash was deleted. Note: In this case, the flash has enough space to copy a new 10S without deleting the current one.
The current 10S is deleted just because the administrator wants to do so. If the flash does not have enough space you will see an
error message like this:

%Error copying tftp://192.168.2.167/ c1600-k8sy-mz.123-16a.bin (Not enough space on device)

QUESTION 116

Refer to the exhibit. According to the routing table, where will the router send a packet destined for 10.1.5.65?

oo w»
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|Network Interface Next-hop
10.1.1.0/24 el directly connected
10.1.2.0/24 el directly o connacted
10.1.3.0/25 s0 dlt’ECﬂ'y’ cohneated
10 a)0f34 1) o it LAe [ (4] yﬂie&qg;wmed
10150{;4} _ _ 20 - 10.1.1.2
ftb.156a/28\ - e 10.1.2.2
10.1.5.64/29 s0 10.1.3.3
10.1.5.64/27 s1 10.1.4.4 2
A. 10.1.1.2

B. 10.1.2.2

C. 10.1.33

D. 10.14.4

Answer: C

Explanation:

The destination |P address 10.1.5.65 belongs to 10.1.5.64/28, 10.1.5.64/29 & 10.1.5.64/27 subnets but the "longest prefix match"
algorithm will choose the most specific subnet mask, the prefix /29 will be chosen to route the packet, therefore the next-hop should
be 10.1.3.3.

QUESTION 117

Refer to the exhibit. Which address and mask combination represents a summary of the routes learned by EIGRP?

Gateway of last resort is not set

192.168.25.0/30 is subnetted, 4 subnets
192.168.25.20 [90/2681856] via 192 168.15.5, 00:00:10, Serial0/1
8.45.15 [90/1823638] Vis 192.165(1 56, G0:00:50, Serialo/1
192.168.25.24 [20/3837233] via 192.168.15.5, 00:05:23, Serial0/
192.168.25.28 [90!312?323] via 192.168.15.5, 00:06:45, Serial0/1
192.168.15.4/30 is directly connected, Serial0/1
192.168.2.0/24 is directly connected, FastEthernet0/0

O0O00O0O

A. 192.168.25.0 255.255.255.240

B. 192.168.25.0 255.255.255.252

C. 192.168.25.16 255.255.255.240

D. 192.168.25.16 255.255.255.252

E. 192.168.25.28 255.255.255.240

F. 192.168.25.28 255.255.255.252

Answer: C

Explanation:

The binary version of 20 is 10100.

The binary version of 16 is 10000.

The binary version of 24 is 11000.

The binary version of 28 is11100.

The subnet mask is/28. The mask is 255.255.255.240.

Note:

From the output above, EIGRP learned 4 routes and we need to find out the summary of them:
+192.168.25.16

+192.168.25.20

+192.168.25.24

+192.168.25.28

Theincrement should be 28-16 = 12, but 12 is not an exponentiation of 2 so we must choose 16 (24). Therefore the subnet mask is
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/28 (=1111 1111.1111 1111.1111 1111.11110000) = 255.255.255.240

So the best answer should be 192.168.25.16 255.255.255.240

QUESTION 118

Refer to the exhibit. Assuming that the entire network topology is shown, what is the operational status of the interfaces of R2 as
indicated by the command output shown?

17296109500  172.16.109.6/%0
— SOH SO0

R2# show Ip intorfaca bifef |

(nterface- - -P-Mdlui DK7Y Mmd Status Protocol
mmmuu 172:16.109.62 YES manual up up
w“ wiassigned  YES imset  adininistiatively down down
Serialol 172.16.909.5 YES manual up up

A. Oneinterface has aproblem.

B. Two interfaces have problems.

C. Theinterfaces are functioning correctly.

D. Theoperational status of the interfaces cannot be determined from the output shown.

Answer: C

Explanation:

The output shown shows normal operational status of the router'sinterfaces. Serial0/0 is down because it has been disabled using the
"shutdown" command.

QUESTION 119

Which two locations can be configured as a source for the |OS image in the boot system command? (Choose two.)

A. RAM

B. NVRAM

C. flash memory
D. HTTP server
E. TFTPserver
F. Telnet server
Answer: CE
Explanation:

The following locations can be configured as a source for the |OS image:

1. + Flash (the default location)

2.+ TFTP server

3.+ ROM (used if no other sourceis found)

QUESTION 120

Refer to the exhibit. Given the output for this command, if the router ID has not been manually set, what router ID will OSPF use for
thisrouter?

RouterD show ip interface bhrief

Interface IP-Address 0K? Methog Status Pri:rtocnl
I‘asl:Ethg-—i.—b'F'cnrfw— 92 1685 T | —JEe-h l;“.ﬂ:r ey up
FascEchesnecld J.LHJT ﬁsm _&,J__J up
Loophack0 — 1'?_2 V6,551 —¥Es WVRAM  up up
Loopbakkl 0 \\10.154 154, 1 YES WVEAM up up

A. 10.1.12

B. 10.154.154.1

C. 1721651
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D. 192.1685.3

Answer: C

Explanation:

The highest IP address of all loopback interfaces will be chosen. Loopback 0 will be chosen as the router ID.
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